
Missing numbers
Fill in the missing numbers. Use the inverse to check your 
answers. Show your workings in the box below.
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‘Inverse’ means to reverse 
something. Subtraction is the inverse 

of addition. 

390 +  = 990

39 +  = 99

9 +  = 699

475 +  = 675

75 +  = 95

 + 20 = 115

 + 5 = 32

27 +  = 77

270 +  = 770

 + 75 = 102
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Answers
390 + 600 = 990
39 + 60 = 99
9 + 690 = 699
475 + 200 = 675
75 + 20 = 95
95 + 20 = 115
27 + 5 = 32
27 + 50 = 77
270 + 500 = 770
27 + 75 = 102

Write some calculations 
with missing numbers and 
ask a friend or adult to 

complete them.


